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= 250,000
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01 MM =R E 325,000 325,000 0
OUHEl M= &N =& 325,000
= 250,000
S 75,000
ANg=zsta dd&30 A2 18,000 0 18,000
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2H: 230
M 2oos &Y
t¢e: 2= 2435 CEERED)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
01 IXNHHBANEES 20,000 0 20,000
OSHZH=E 288 s+ StJ|e 215 A
Sel 20,000
= 20,000
E=ER0=Ed 2 U= 40,063 0 40,063
307 glz2+ol & 40,063 0 40,063
02 QItFAE XS 40,063 0 40,063
Oss=sis3 40,063
S=E20=s 2 29 122,687 0 122,687
307 21201 A 122,687 0 122,687
05 RIZt2IE = 122,687 0 122,687
Os=cslz=3z2 23 122,687
Zstilzs 4N 10,758,470 8,088,334 2,670,136
= 1,072,110
J| 2,767,000
= 131,406
< 6,787,954
=28y 29U XA 300,000 300,000 0
308 XtXIEHHSOIA 300,000 300,000 0
01 HXNHHBHELS 300,000 300,000 0
O™y 22H XA 300,000
ANZUEZS0=HAX 25,000 0 25,000
308 A EHHSOIA 25,000 0 25,000
01 HXNHHNBHELS 25,000 0 25,000
OANZEsS SAHAZ g 25,000
Fl=dsE a3 ANA 517,000 532,000 A 15,000
201 L4l 2,000 2,000 0
01 At 22l 2,000 2,000 0
O& NBMz=d 2INExE 2,000
307 21201 A 515,000 530,000 A 15,000
02 B AEXS 400,000 400,000 0
OEXZEu= 29 400,000
04 QIZtHAIE X = 115,000 130,000 A 15,000
OHM3sl s&E=E 0i=thd 40,000
OHM102 SE=T AHE &3l 20,000
OHM3zl e=dsSess2d 15,000
OXN24sl s=MHMUUA 20,000
OZ= 0t3t0IE ARl D12 d 5,000
OX14sl s MUES= 15,000
N SE M X 80,000 80,000 0
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308 At XM SO0I & 80,000 80,000 0
01 XM BaE2ES 80,000 80,000 0
OUet = SEINRHM K& 20,000
=eloh SESOM X 20,000
Od= LM X 20,000
OR4d HEINLHM X& 20,000
23S =8 A X2 80,000 80,000 0
307 @1z2tol & 80,000 80,000 0
04 2IHHAIE X S 80,000 80,000 0
OLE St0i=dA K& 80,000
oot =2=Es N 328,514 328,514 0
& 131,406
= 197,108
307 glztol & 328,514 328,514 0
= 131,406
= 197,108
05 22t & =2 328,514 0 328,514
OO0t 23tgs NAMY 328,514
= 131,406
< 197,108
ESE23Y SE2EANE 119,000 140,000 221,000
Jl 50,000
S 69,000
307 212tol & 119,000 140,000 A 21,000
Jl 50,000
= 69,000
R2AAnBHEERZ 119,000 140,000 A 21,000
OS=Z£23d Sg2gd N 119,000
Il 50,000
T 69,000
Z0rE =23t0ls 2AHUE XA 167,000 158,000 9,000
307 @lztol & 129,000 149,000 20,000
04 2IZtHAIE X S 129,000 149,000 20,000
ON32e ESS=H N 15,000
ORM322 &=H=H &It 25,000
Om27al 5844 A=A 9,000
OHM23s E2=28H H= 15,000
OH22zl &= H &It 30,000
OHM32el d=Us 283Ul N 20,000
ES 2 ¥ FEAEZ HAEE 5,000
OBSZE d=AZNIH Nl 10,000
308 XXM S0l ™ 38,000 9,000 29,000




2H: 230
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= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
01 IXNHHBANEES 38,000 9,000 29,000
OHM2138 2t d=std=dFAWS 18,000
OHNI383 M=EZ Jtot23HUS 20,000
dIes0sZ2 AU FOt 42,000 290,000 A 248,000
J| 10,000
= 32,000
308 XX EHHSOIA 42,000 290,000 A 248,000
J| 10,000
< 32,000
01 HIXNHHBNEES 42,000 290,000 A 248,000
Ost=20=0==H HEE It 25,000
J| 5,000
= 20,000
Od=dadol=0=M HWEE Ot 17,000
J| 5,000
< 12,000
SEEUZH=B3AUZ 41,500 41,500 0
201 Yute | 3,500 0 3,500
03 A2 Z HI 3,500 0 3,500
OE=2Us0=M & F2HUKM=H BHY
At 3,500
308 MtXIEHSOIH 38,000 38,000 0
01 HXNHHBHELS 38,000 38,000 0
OHM20s s=2X0==H 23,000
OHM7a s=Eade=0=M 15,000
=5 UEM=M & 317,000 253,000 64,000
307 21201 A 317,000 253,000 64,000
04 BIZtHAIE RS 317,000 253,000 64,000
ORM21z s=s8=0=H 80,000
OHM56sl s=0=H 237,000
2E 3243 XA 35,000 40,000 A5,000
307 glz2+ol & 35,000 40,000 A5,000
04 RIZIHAIE RS 35,000 40,000 A5,000
OEgtlstgr FX&E & QM et 10,000
OE=T 2l SNot= CBS &HE 3523 15,000
OCJBE A J1E 323l 10,000
2= 2502 ® AN 73,000 108,000 ~35,000
307 21201 A 73,000 108,000 A 35,000
02 IAHFAEXS 30,000 45,000 A 15,000
Os=E=s =303t 0l 5,000
OE=0=X 22t 10,000
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ONMAX LOtEst LAY 10,000
OZ= 20X S==I} g2 5,000
04 QIHARES 43,000 63,000 £20,000
Oz=estolys 8,000
OMUSIEZE ¥ ME A 5,000
OE=SE 23823 10,000
Os=9 28 529 =)} 2K 20,000
20 2SRRI 50,000 50,000 0
307 @I2+0| ™ 50,000 50,000 0
04 QIAHAEES 50,000 50,000 0
OB-% H&23 R 15,000
OB=-HEY 230 21F 25,000
Oft-¢ 0z DRA 10,000
HESHNE HaEE 104,000 94,000 10,000
307 @I12+0| ™ 55,000 65,000 £10,000
04 QIAHAEES 55,000 65,000 210,000
ORM218 ESS220 &I 5,000
OXI193 &30l &M S 30,000
ORME NIRSSHA 20,000
308 XHXI A S 01 & 49,000 29,000 20,000
01 HXSHBARRS 49,000 29,000 20,000
OX108 S&240123 X 9,000
OAESAD MHSAS B (w0mat) 20,000
OZQis= 7080 X ZME 20,000
2OLE0 MBS 2AA N AL 568,220 568,220 0
2 284,110
= 284,110
307 @I12+0| ™ 568,220 568,220 0
2 284,110
= 284,110
I ESS 568,220 568,220 0
ORot=0t HS2AN NEAY 568,220
2 284,110
= 284,110
A S| 2 810l & 1 5 ALY 343,200 343,200 0
2 264,000
< 79,200
308 KXI € RIS 01 & 343,200 343,200 0
2 264,000
< 79,200
01 RXSHB LR 343,200 343,200 0
OB 230 S DAY 343,200
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2H: 230
M 2oz 2L
& 230z SN (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
J| 1,667,000
< 135,000
308 XXM SO A 1,802,000 1,343,200 458,800
J| 1,667,000
< 135,000
01 AXHHILEES 1,802,000 1,343,200 458,800
O=2sdt* ™ XE AL 1,802,000
J| 1,667,000
< 135,000
Z2oce 920z NddH 29 748,000 300,000 448,000
= 374,000
= 374,000
307 21201 A 748,000 300,000 448,000
= 374,000
< 374,000
02 QIZtFAE XS 748,000 300,000 448,000
OZ2aHe NEZstz=nsddE 23 300,000
= 150,000
< 150,000
OEx=2ste 448,000
= 224,000
< 224,000
E=EEs2 29 380,000 532,300 A 152,300
307 21201 A 250,000 232,300 17,700
05 RIZt2IEt = 250,000 232,300 17,700
Os=E=sta 2949 250,000
308 X EHSOIA 50,000 50,000 0
01 HXNHHBHELS 50,000 50,000 0
OE==s& Nz & 29 50,000
401 A& HIZ 2018 80,000 250,000 A 170,000
01 A& HI 80,000 250,000 A 170,000
O=E==2st2 AMEE2 At Y 80,000
SRS ALY 820,000 290,000 530,000
307 21201 A 820,000 290,000 530,000
05 RIZt2IEt = 820,000 290,000 530,000
OS=EaMHY 23tz EHSAY 800,000
OEQEsM=Ed UWEAIAMY 20,000
ANEEAFAY 1,871,000 1,102,000 769,000
J| 1,040,000
< 831,000
307 glz2+0ol & 1,871,000 1,102,000 769,000
J| 1,040,000
< 831,000
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M 2oos &Y
& 230z SN (9 ® =)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
02 2B AEXS 1,871,000 1,102,000 769,000
OdXgAazZzz s X3 150,000
J| 75,000
< 75,000
O=ellter 2elotg X& 120,000
J| 60,000
< 60,000
OANMEIIEX(XNE2stt=g=skE) 140,000
J| 70,000
< 70,000
O3 dF0=tM SEXE 523,000
J| 366,000
< 157,000
OXNEzstil=s4RE 938,000
J| 469,000
< 469,000
£ 2= I8 =0 100,000 100,000 0
307 21201 A 100,000 100,000 0
05 RIZt2IEt = 100,000 100,000 0
OXZGoslt & M LN 100,000
ot S=SE2esSds A 2 50,000 0 50,000
201 £Br2%| 25,000 0 25,000
03 A2 Z Hl 25,000 0 25,000
OgNdte &5 2elsas A 23 25,000
301 et d = 25,000 0 25,000
09 BALAHI 242 25,000 0 25,000
OEMNdts =5 Sels%ds MUY & =2z 25,000
EEXNEEZ S X 300,000 0 300,000
= 150,000
< 150,000
307 21201 A 300,000 0 300,000
= 150,000
< 150,000
05 RIZt2IEt = 300,000 0 300,000
O=23=X #21 HH X 300,000
= 150,000
< 150,000
ESSU0HE 2049 230==H 250,000 0 250,000
307 gl2tol & 250,000 0 250,000
04 QIZHHAIE X = 250,000 0 250,000
OF=QHE 2048 230==H 250,000
E3 gZe 5 2 ZEH=x 84 18,446,750 11,720,200 6,726,550
= 3,347,700
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=5tol s
Ssttlz 3
=35 ome B Y BEX S|4

= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
& 8,414,000
= 63,000
< 6,622,050
HE=Hs4GstHd XA 250,000 250,000 0
308 XXM SO A 250,000 250,000 0
01 IXNSHHBNEES 250,000 250,000 0
OHM108 M&E=HMSSEsHH 250,000
SSTAM2 A HE2Y 566,550 351,000 215,550
= 377,700
< 188,850
308 XtXIEHHSOIA 566,550 351,000 215,550
= 377,700
< 188,850
01 X HHILEES 566,550 351,000 215,550
OSSN A AE2H 566,550
= 377,700
= 188,850
S3EM2 2| 252,000 252,000 0
=2 63,000
< 189,000
703 UEHISEHEES 252,000 252,000 0
=2 63,000
< 189,000
01 USHIEEHEES 252,000 252,000 0
OZBTAHZ 22| 252,000
& 63,000
< 189,000
AXNSHEN SRAAY 260,000 260,000 0
& 200,000
< 60,000
308 XXM SO A 260,000 260,000 0
& 200,000
< 60,000
01 IXNHHBANEES 260,000 260,000 0
OXXNS=ET SAAY 260,000
= 200,000
< 60,000
X AolcHA 25,000 20,000 5,000
308 XX EHH SOl A 25,000 20,000 5,000
01 X HHILEES 25,000 20,000 5,000
OHM11al XM A 25,000
eAZ = 3l Hxl ¥ EIt 30,000 30,000 0
307 gl2tol & 30,000 30,000 0




2N 230z
M 2oos &Y
Sl 235 olmg 1E W BHE 4 CEEEED
L=
SA - BB B () - MM - BES Ol &t o San HmEET
04 BIZHHAIE RS 30,000 30,000 0
ONBsl 5= e-2XZ=U3 Mzl L d=2U3
=l 30,000
SHAHCIAR & s 20,000 20,000 0
307 g2+l & 20,000 20,000 0
04 RIZIHAIE RS 20,000 20,000 0
OM113l SUHASCIRC Had 20,000
OtJIet & Mot MAYE 23 85,200 80,000 5,200
308 XXM SOIA 85,200 80,000 5,200
01 IXNSHHBANEES 85,200 80,000 5,200
OO0tJI2 & Mots HAE 2 85,200
Ectot st MEXA 112,000 15,000 97,000
307 21201 A 12,000 15,000 A 3,000
04 QIZtHAIB XS 12,000 15,000 A 3,000
OLEectdt g3 AU =8 HEN 12,000
308 XX EHHSOIA 100,000 0 100,000
01 HIXNHHBNEES 100,000 0 100,000
OEetor g3t MK 100,000
AEC FE 2AH =4 4,455,000 0 4,455,000
= 2,970,000
< 1,485,000
403 MtXISHHE X201 E 4,455,000 0 4,455,000
= 2,970,000
< 1,485,000
01 X SHHA2E = 4,455,000 0 4,455,000
OA&el & 2dAH 24 4,455,000
= 2,970,000
= 1,485,000
EFANE0ls2 A 1,898,000 1,050,000 848,000
& 1,084,000
< 814,000
403 A X EHHS 20l A 1,898,000 1,050,000 848,000
& 1,084,000
= 814,000
01 X HHMA=ZLE L 1,898,000 1,050,000 848,000
OFFAE0=2 A 1,898,000
& 1,084,000
< 814,000
22 X2 45,000 7,200 37,800
308 XX EHSOIA 45,000 7,200 37,800
01 HIXNHHBMNEES 45,000 7,200 37,800
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M. 2sls 2L
CHelr 23 Qe P& U BEX |4 (el @2)
SN EB S (3H) - NEAY - BES ofl &k o San HDE2
OXSEAS T AT 45,000
HELNSSSHEH A 1,000,000 1,000,000 0
2 1,000,000
403 XX S M S K201 & 1,000,000 1,000,000 0
2 1,000,000
01 AIXISHM A 22X 1,000,000 1,000,000 0
ONEN=SSHE HE 1,000,000
2 1,000,000
QE=HSIMEH A 3,850,000 875,000 2,975,000
2 2,200,000
= 1,650,000
403 XHXI SIS Xt =201 ™ 3,850,000 875,000 2,975,000
z 2,200,000
= 1,650,000
01 AXHNMAHEBEE = 3,850,000 875,000 2,975,000
OLLAEES2SIME (ZA2/0ls2) HE 3,850,000
2 2,200,000
o= 1,650,000
AS=EE2F0=z 2 HE 500,000 1,100,000 A 600,000
2 500,000
403 XX S M S X201 A 500,000 1,100,000 A 600,000
2 500,000
01 MXHHAE2BE = 500,000 1,100,000 A 600,000
Ogs=g2stlss 2 HE 500,000
=z 500,000
Y3 e HE 1,280,000 820,000 460,000
F) 700,000
o= 580,000
403 X SH S X =0l & 1,280,000 820,000 460,000
2 700,000
o= 580,000
01 AIXISHM A 22X 1,280,000 820,000 460,000
OXH3 2t HE 1,280,000
2 700,000
== 580,000
232 HE 1,400,000 0 1,400,000
2 800,000
= 600,000
403 XX S S K201 A 1,400,000 0 1,400,000
=z 800,000
= 600,000
01 HXHNMAHEE = 1,400,000 0 1,400,000
OZREH22AY 1,400,000
z 800,000
== 600,000




M 250D
M 2oz 2L
Sl 235 olmg 1E W BHE 4 CEEEED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
EeRatssa el2dd 800,000 0 800,000
& 800,000
403 MtXSHHS =0l & 800,000 0 800,000
& 800,000
01 X SHMA2E X 800,000 0 800,000
O2Zsissa el2ed 800,000
& 800,000
A A2t AY 500,000 0 500,000
2 500,000
403 MtXISHE X201 & 500,000 0 500,000
& 500,000
01 X SHHN2E = 500,000 0 500,000
O2gi H2dstar A 500,000
& 500,000
O FAtEt= 2 HE 1,103,000 0 1,103,000
= 630,000
< 473,000
403 A X EHHS 20l A 1,103,000 0 1,103,000
& 630,000
< 473,000
01 X HHMA=E L 1,103,000 0 1,103,000
OSEX AAet=22 A 1,103,000
& 630,000
< 473,000
OIABUT EHN 15,000 0 15,000
403 UHXSHHS =0l & 15,000 0 15,000
01 XM A2E X 15,000 0 15,000
OZF=A 30t OFA3AHE 4 15,000
R dSEBE 16,380,268 15,060, 188 1,320,080
= 7,093,852
J| 956,698
& 3,059,963
< 5,269,755
R BEEW X E= 16,380,268 15,060, 188 1,320,080
= 7,093,852
J| 956,698
= 3,059,963
< 5,269,755
2RAXNFESHN 24Tl 6,062,700 5,952,571 110, 129
=2 4,883,400
< 1,179,300
403 MtXISHHE A0l & 6,062,700 5,952,571 110,129
= 4,883,400
< 1,179,300




2H: 230
Ha: 2R84 HS2E
& 2R BEEY JIX F= (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
01 AXSHMA=2EE 6,062,700 5,952,571 110,129
O=2JtX&E 3t E+=FHl 5,935,200
= 4,798,400
< 1,136,800
OZNXNEFEZ3M SHZAIAE &X 127,500
2 85,000
< 42,500
IHExX dHIIEE A2+ 211,650 211,650 0
= 174,300
< 37,350
403 XSS A0l & 211,650 211,650 0
2 174,300
< 37,350
01 X SHMA2E X 211,650 211,650 0
O3NXE ddIIgse g2+ 211,650
= 174,300
< 37,350
=D E-E- U EESI L] 121,590 61,640 59,950
= 121,590
403 XIS E X201 & 121,590 61,640 59,950
= 121,590
01 XXM 22 = 121,590 61,640 59,950
O=JtX&E 23 =It01&d 0| 121,590
= 121,590
SHIEX 23 E+FH| 3,913,955 3,913,955 0
=2 3,059,963
< 853,992
202 Odl 6,000 6,000 0
01 2401 bl 6,000 6,000 0
OEXE M 2=Fdl A 0dl 6,000
403 MtXISHH S0l & 3,907,955 3,907,955 0
& 3,059,963
= 847,992
01 XM A=2EE 3,907,955 3,907,955 0
OEXE 23t EZH| 3,677,955
=2 3,059,963
< 617,992
OEXE 23t et Fl 200,000
O&E EstAL 2EEX 30,000
HEAME EEFHI 2,521,500 2,610,000 288,500
= 1,681,000
< 840,500
403 XSS X201 & 2,521,500 2,610,000 A 88,500
= 1,681,000
< 840,500




25 230z
Ha: 2R84 HS2E
Ee: 23K 4Ao E=1 JiX| &= (2 &HH)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
01 XIS A 2E X 2,521,500 2,610,000 A 88,500
OXSAE B=FH| 1,560,000
= 1,040,000
== 520,000
OFEANE SdHAAHY 2= 961,500
= 641,000
= 320,500
SCXNAE2SM =J101¥ QD] 97,467 95,947 1,520
403 XX SHHS K20 ™ 97,467 95,947 1,520
01 XIS AE2E X 97,467 95,947 1,520
OEXA 23/ =204l D] 97,467
LHEESMH ZHH ALK& 36,200 34,000 2,200
308 ANXISHMSOIA 36,200 34,000 2,200
01 HXHHBIMNEXS 36,200 34,000 2,200
ORE 23 M SHEAF X 36,200
LSS s 196,500 191,700 4,800
308 MXISHMSOIA 196,500 191,700 4,800
01 AIXSHMENMNEXZ 196,500 191,700 4,800
ORE 23t 8sAH 196,500
ZE=SESSAP & S=U3 M= 11,000 15,000 A4 ,000
307 2Iz2t0| & 5,000 15,000 A 10,000
02 QI2tAAMNE X2 5,000 15,000 A 10,000
OZ=SERS HAR== 5,000
308 XNHXIGHH SO0l & 6,000 0 6,000
01 IXHHIMNEXS 6,000 0 6,000
O=E=SEe¢ERAHTP =Wzl M= 6,000
TANEHES M SIHEHALE 213,000 100,000 113,000
403 XX SRS K 20| & 213,000 100,000 113,000
01 AXESHIE2E X 213,000 100,000 113,000
OEX A2 STHAEH A 213,000
SRLESXISM ZAlo=E B 245,808 203,130 42,678
J| 163,872
= 81,936
308 XAXIEHSOIA 245,808 203,130 42,678
Jl 163,872
= 81,936
01 AIXSHMENMNEX=Z 245,808 203, 130 42,678
OER S2X23M 2Ale= Hi X 245,808
J| 163,872
& 81,936




2H: 230
Ha: 2R84 HS2E
& 2R BEEY JIX F= (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
SRNE2SM S4HA IS ()Y 36,000 140,000 A 104,000
308 AHXIEHH SOl 36,000 140,000 A 104,000
01 HIXNHHBNEES 36,000 140,000 A 104,000
OZXNE23M Saud J&E(e) &y 36,000
INHXNEEZSM LHLEH &X 314,500 251,600 62,900
J| 259,000
< 55,500
403 UtXISHE X201 E 314,500 251,600 62,900
J| 259,000
< 55,500
01 X SHHA2E = 314,500 251,600 62,900
O=2JtXZE 23 2M&d &X 314,500
J| 259,000
= 55,500
2o HEFA AR 22 13,000 13,000 0
201 Let24d] 13,000 13,000 0
01 At 22l 13,000 13,000 0
Ogt+gH| 13,000
- LB A =EHI 13,000
SLISXESN Y2 2dXd ¥ dHALRI 2 77,503 52,700 24,803
2l
Jl 63,826
< 13,677
308 A EHSOIA 77,503 52,700 24,803
J| 63,826
< 13,677
01 HIXNHHBMNEES 77,503 52,700 24,803
SRS Yat2es2d & YMHAE=
Xl2el 77,503
J| 63,826
< 13,677
22 SAZRLA A 28,562 16,688 11,874
= 28,562
308 A EHHSOIA 28,562 16,688 11,874
= 28,562
01 IXNHHBHEELS 28,562 16,688 11,874
OFstiztel SA2RA oA 28,562
= 28,562
EotFA BEAY 65,000 65,000 0
308 XXM SO0l A 65,000 65,000 0
01 IXNHHBNEES 65,000 65,000 0
O23t7d 23 ALY 65,000




2H: 230
M Fore BSEBE
& 2R BEEY JIX F= (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
& HFAN U= RIstusa A AY 1,000,000 0 1,000,000
403 XSS A=0l& 1,000,000 0 1,000,000
01 X SHMA=2E X 1,000,000 0 1,000,000
O=eldt AL 2R 2stus22Ag 1,000,000
23R BSAE(EX) 208,000 51,000 157,000
= 160,000
< 48,000
308 XXIEHH SOl A 208,000 51,000 157,000
= 160,000
< 48,000
01 AXHHIYEES 208,000 51,000 157,000
O3 HEE At MUY 104,000
= 80,000
= 24,000
Oallsres MAEND EESAY 104,000
= 80,000
< 24,000
2 st=7 XA 40,000 0 40,000
307 glz2+ol & 40,000 0 40,000
02 QItFAEXZ 40,000 0 40,000
OsSEXY 2U=8 HHME Ha(stA) X 40,000
R} MSS ALY 783,333 510,000 273,333
J| 470,000
< 313,333
307 21201 A 783,333 510,000 273,333
J| 470,000
< 313,333
02 P AEXRS 783,333 510,000 273,333
O=sMEssSAHY 783,333
J| 470,000
< 313,333
FEIsM drns2t 243 ALY 58,500 58,500 0
= 45,000
< 13,500
308 AHXIEHHSOIA 58,500 58,500 0
= 45,000
< 13,500
01 HIXNHHNBMNEELES 58,500 58,500 0
SEHESM drus2 B3H3 MY 58,500
= 45,000
< 13,500
gt |X2el 124,500 0 124,500
308 XXM SO0l A 124,500 0 124,500
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